BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER SUPPLY PLANT NO. 1 - PHASE 1 TO SERVE MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 MONTGOMERY COUNTY, TEXAS **DECEMBER 12, 2023** LJA ENGINEERING, INC. D. FORREST **DECEMBER 13, 2023**

1968-42001 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE BID NO. 1	BID INCLUDING ALTERNATE BID NO. 2	BID INCLUDING ALTERNATE BID NO. 3
1) GEMINI CONTRACTING SERVICES, I	\$9,960,315.00	\$10,270,315.00	\$9,555,915.00	\$9,865,315.00
2) B-5 CONSTRUCTION CO. INC.	\$11,756,844.00	\$12,095,844.00	\$11,408,551.00	\$11,714,344.00
3) W.W. PAYTON CORPORATON	\$12,900,000.00	\$13,450,000.00	\$12,700,000.00	\$12,900,000.00
CALENDAR DAYS - 330/360		*·ne	erin	
Mangaret Gijentine, P.E., hereby certify these bid tabulations to be true and corre	oct.	9	Section 1	ALL

MARGARET SLEDGE GILLENTINE

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER SUPPLY PLANT NO. 1 - PHASE 1
TO SERVE MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
MONTGOMERY COUNTY, TEXAS
DECEMBER 12, 2023
LJA ENGINEERING, INC.
D. FORREST
DECEMBER 13, 2023

2) B-5 CONSTRUCTION CO. INC.

3) W.W. PAYTON CORPORATON

1) GEMINI CONTRACTING SERVICES, I

				1) GEMINI CONTRAC	JIING SERVICES, I	2) B-5 CONSTRUC	STION CO. INC.	3) W.W. PATION	CORPORATON
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATE	R PLANT BASE BID ITEMS								
	SITE WORK FOR PLANT SITE INCLUDING GRADING, PIPE SUPPORTS, SPLASH PADS, AND ALL REQUIRED APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN PLACE	LS	1	\$100,000.00	\$100,000.00	\$224,447.00	\$224,447.00	\$15,000.00	\$15,000.00
	YARD PIPING, INCLUDING FITTINGS, VALVES, EXCAVATION, BEDDING AND BACKFILL, AND ALL REQUIRED APPRUTENANCES, AS SHOWN ON PLANS, COMPLETE IN PLACE	LS	1	\$1,000,000.00	\$1,000,000.00	\$1,306,141.00	\$1,306,141.00	\$1,970,000.00	\$1,970,000.00
	PAINTING OF ABOVE GROUND PIPING, INCLUDING VALVES, METER, PIPE SUPPORTS, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$50,000.00	\$50,000.00	\$109,738.00	\$109,738.00	\$60,000.00	\$60,000.00
4	TRENCH SAFETY FOR YARD PIPING, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$6,500.00	\$6,500.00	\$829.00	\$829.00
	8' CHAIN LINK FENCE, INCLUDING 18' DOUBLE SWING , AS SHOWN ON PLANS, COMPLETE IN PLACE	LF	2038	\$45.00	\$91,710.00	\$55.50	\$113,109.00	\$50.00	\$101,900.00
	INTERNAL V-BOTTOM DRAINAGE SWALE, (AS SHOWN ON PLANS), COMPLETE IN PLACE	LF	384	\$50.00	\$19,200.00	\$12.50	\$4,800.00	\$5.00	\$1,920.00
7	4" PIPE BOLLARD, COMPLETE IN PLACE	EA	12	\$500.00	\$6,000.00	\$819.00	\$9,828.00	\$500.00	\$6,000.00
	6" REINFORCED CONCRETE PAVEMENT WITH 8" LIME OR CEMENT STABILIZED SUBGRADE EXTENDING 1 FOOT OUTSIDE PAVEMENT, COMPLETE IN PLACE	SY	2422	\$150.00	\$363,300.00	\$163.00	\$394,786.00	\$120.00	\$290,640.00
	36" RCP STORM CULVERT WITH SAFETY END TREATMENTS, AS SHOWN ON PLANS, COMPLETE IN PLACE	LF	56	\$600.00	\$33,600.00	\$725.50	\$40,628.00	\$500.00	\$28,000.00
	EMERGENCY EYEWASH/SHOWER AND WATER ACCESS ASSEMBLY, INCLUDING BACKFLOW PREVENTER, FIRE HYDRANT, HOSE BIB, AND APPURTENANCES, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$3,125.00	\$3,125.00	\$3,000.00	\$3,000.00
	290,000 GALLON, 24'DX87'H WELDED STEEL GROUND STORAGE TANK, INCLUDING PAINTING, TANK PIPING, FOUNDATION, VENTS, RAILING, LADDERS, SPLASH PAD, AND ALL APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN PLACE	LS		\$1,110,000.00	\$1,110,000.00	\$1,147,996.00	\$1,147,996.00	\$1,195,000.00	\$1,195,000.00
	PAINT LOGO ON GROUND STORAGE TANK, AS SHOWN ON PLANS, COMPLETE IN PLACE	LS	1	\$7,400.00	\$7,400.00	\$59,375.00	\$59,375.00	\$5,000.00	\$5,000.00
	CONTROL BUILDING INCLUDING REINFORCED CONCRETE FOUNDATION, PIPING, CONCRETE PUMP SUPPORTS, CONCRETE PIPE SUPPORTS, HOIST AND RAIL, AIR COMPRESSOR, AIR CONDITIONER, VENTILATION EQUIPMENT, CHLORINATION EQUIPMENT, SUMP PUMP, PAINTING, AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$470,000.00	\$470,000.00	\$800,052.00	\$800,052.00	\$1,100,000.00	\$1,100,000.00
	30 HP NON-OVERLOADING HORIZONTAL SPLIT CASE BOOSTER PUMP WITH MINIMUM EFFICIENCY AT 72% AT 500 GPM AND 150' TDH, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	1	\$50,000.00	\$50,000.00	\$33,925.00	\$33,925.00	\$40,000.00	\$40,000.00
	125 HP NON-OVERLOADING HORIZONTAL SPLIT CASE BOOSTER PUMP WITH MINIMUM EFFICIENCY AT 79% AT 2,000 GPM AND 150' TDH, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	2	\$70,000.00	\$140,000.00	\$32,675.00	\$65,350.00	\$60,000.00	\$120,000.00
	BLEACH CHLORINATION SYSTEM, INCLUDING THREE PERISTALIC PUMP ASSEMBLIES WITH 1,000 GAL DOUBLE WALLED TANK, 1/2-INCH SCHEDULE 80 PVC PIPE FEED LINE , CHEMICAL INJECTION ASSEMBLY, AND ALL APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN PLACE	LS	1	\$60,000.00	\$60,000.00	\$75,425.00	\$75,425.00	\$75,000.00	\$75,000.00
	20,000 GALLON HYDROPNEUMATIC TANK, INCLUDING TANK PIPING, FOUNDATION, AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$150,000.00	\$150,000.00	\$200,777.00	\$200,777.00	\$300,000.00	\$300,000.00

1968-42001 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER SUPPLY PLANT NO. 1 - PHASE 1
TO SERVE MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
MONTGOMERY COUNTY, TEXAS
DECEMBER 12, 2023
LJA ENGINEERING, INC.
D. FORREST
DECEMBER 13, 2023

		1) GEMINI CONTRACTING SERVICES, I		TING SERVICES. I	2) B-5 CONSTRUC	CTION CO. INC.	3) W.W. PAYTON CORPORATON	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
18 STORM WATER POLLUTION PREVENTION PLAN, INCLUDING ADMINISTRATIC MAINTENANCE, AND REMOVAL AS REQUIRED BY THE PLANS AND AS DIREC BY THE ENGINEER, TO BE MAINTAINED UNTIL CONTRACTORS NOTICE OF TERMINATION IS SUBMITTED, COMPLETE IN PLACE		1	\$2,000.00	\$2,000.00	\$7,930.00	\$7,930.00	\$250.00	\$250.00
19 FILTER FABRIC FENCE (SILT BARRIER FENCE), (TO BE USED ONLY AS DIRECT BY THE ENGINEER), COMPLETE IN PLACE	CTED LF	2111	\$5.00	\$10,555.00	\$4.00	\$8,444.00	\$1.00	\$2,111.00
20 INSTALLATION, MAINTENANCE AND REMOVAL OF CONCRETE WASHOUT PIT COMPLETE IN PLACE	, LS	1	\$1,000.00	\$1,000.00	\$1,350.00	\$1,350.00	\$250.00	\$250.00
21 INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTI EXIT (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE		1	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00	\$100.00	\$100.00
22 ALLOWANCE FOR ELECTRIC SERVICE PROVIDER. EXACT AMOUNT WILL BE REIMBURSED TO CONTRACTOR UPON SUBMITTAL OF INVOICE FROM ELECTRICE PROVIDER, COMPLETE IN PLACE	LS TRIC	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
23 NEW 1600A 480V SERVICE, METERING, CONDUIT, WIRE AND DUCT BANKS FI TERMINAL POLE TO PAD MOUNT TRANSFORMER AND FROM PAD MOUNT TRANSFORMER TO MAIN DISCONNECT AND ALL APPURTENANCES, COMPLE AND IN PLACE.		1	\$80,000.00	\$80,000.00	\$142,789.00	\$142,789.00	\$100,000.00	\$100,000.00
24 NEW 900KW DIESEL GENERATOR WITH 72-HOUR SUBBASE FUEL TANK, ACC PLATFORMS, 1600A AUTOMATIC TRANSFER SWITCH WITH POWER AND CONTROL DUCT BANK FROM ATS TO GENERATOR AND ALL APPURTENANCI COMPLETE AND IN PLACE.		1	\$500,000.00	\$500,000.00	\$543,395.00	\$543,395.00	\$550,000.00	\$550,000.00
25 NEW 1600A MCC WITH ALL METERING, RELAYS, MCPS, BREAKERS, STARTE SOFT STARTS, 25KM LIGHTING TRANSFORMER AND 42 CIRCUIT DISTRIBUTION PANEL AND ALL APPURTENANCES COMPLETE AND IN PLACE.		1	\$150,000.00	\$150,000.00	\$887,500.00	\$887,500.00	\$600,000.00	\$600,000.00
26 ALL CONDUIT, CABLE AND DUCT BANKS FOR POWER AND CONTROL FOR THE ENTIRE PROJECT AND ALL APPURTENANCES, COMPLETE AND IN PLACE.	HE LS	1	\$500,000.00	\$500,000.00	\$622,500.00	\$622,500.00	\$335,000.00	\$335,000.00
27 ALL BUILDING LIGHTING, ELECTRICAL AND CONTROLS AS SPECIFIED ON CONTROL BUILDING ELECTRICAL LAYOUT AND ALL APPURTENANCES, COMPLETE AND IN PLACE.	LS	1	\$300,000.00	\$300,000.00	\$85,000.00	\$85,000.00	\$250,000.00	\$250,000.00
WATER PLANT BASE BID ITEMS SUBTOTAL:				\$5,222,765.00		\$6,918,910.00		\$7,170,000.00
WATER WELL NO. 1 BASE BID ITEMS								
1 DRILL ONE PILOT TEST HOLE TO 800 FEET, INCLUDING WELL LOGGING AND SAND SAMPLING AND ANALYSIS, COMPLETE IN PLACE	EA	1	\$480,000.00	\$480,000.00	\$448,400.00	\$448,400.00	\$600,000.00	\$600,000.00
2 INSTALL A 30 SACK CEMENT PLUG FOR UNUSED PORTION OF WELL TEST H COMPLETE IN PLACE	OLE, EA	1	\$9,000.00	\$9,000.00	\$9,440.00	\$9,440.00	\$8,500.00	\$8,500.00
3 TEMPORARY TEST WELL INSTALLATION PILOT TEST HOLE, PUMPING AND WATER SAMPLING AND ANALYSES, COMPLETE IN PLACE	EA	3	\$40,000.00	\$120,000.00	\$13,767.00	\$41,301.00	\$40,000.00	\$120,000.00
4 DRILL AND CONSTRUCT 20"X14" WATER WELL INCLUDING FOUNDATION, CONDUCTOR PIPE, SURFACE CASING, NON-PERFORATED PRODUCTION CA CEMENT SEAL, PERFORATED PRODUCTION CASING (SCREEN), UNDER REA GRAVEL FILTER PACK AND APPURTENANCES, WELL DEVELOPMENT, PUMPI TESTS, AND WATER SAMPLING AND ANALYSIS, (AS SHOWN ON PLANS), COMPLETE IN PLACE	Μ,	1	\$1,225,000.00	\$1,225,000.00	\$1,289,268.00	\$1,289,268.00	\$1,450,000.00	\$1,450,000.00

1968-42001 (9.2)

Page 3 of 6 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER SUPPLY PLANT NO. 1 - PHASE 1
TO SERVE MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
MONTGOMERY COUNTY, TEXAS
DECEMBER 12, 2023
LJA ENGINEERING, INC.
D. FORREST
DECEMBER 13, 2023
1968-42001 (9.2)

2) B-5 CONSTRUCTION CO. INC.

3) W.W. PAYTON CORPORATON

1) GEMINI CONTRACTING SERVICES, I

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
HEAD, CONCF COLUMN PIPE SHAFT), WATI	R WELL WITH 150 HP ELECTRIC MOTOR, 600 GPM PUMP, WELL RETE FOUNDATION, VENT, PUMP BOWLS, 580 FEET OF WELL PUMP S ASSEMBLY (8" X 2 1/2" X 1 11/16" COLUMN PIPE, OIL TUBING, LINE FREVEL ACCESS TUBE, AIRLINE ASSEMBLY, ALL ELECTRICAL S REQUIRED FOR WELL OPERATION, AND ALL APPURTENANCES, I	LS	1	\$350,000.00	\$350,000.00	\$348,100.00	\$348,100.00	\$400,000.00	\$400,000.00
6 ADD OR DEDU PIPE, COMPLI	JCT FOR CHANGES TO 645 FEET TOTAL LENGTH, 20" CONDUCTOR ETE IN PLACE	LF	10	\$270.00	\$2,700.00	\$302.40	\$3,024.00	\$270.00	\$2,700.00
	JCT FOR CHANGES TO 120 FEET TOTAL LENGTH 14" NON- PRODUCTION CASING, COMPLETE IN PLACE	LF	10	\$200.00	\$2,000.00	\$224.00	\$2,240.00	\$200.00	\$2,000.00
	JCT FOR CHANGES TO 100 FEET TOTAL LENGTH 14" PERFORATED CASING (SCREEN), COMPLETE IN PLACE	LF	10	\$460.00	\$4,600.00	\$515.20	\$5,152.00	\$460.00	\$4,600.00
ONE 20 FEET ASSEMBLY, W	JCT FOR CHANGES TO 580 FEET LENGTH OF PUMP SETTING BY SECTION OF COMPLETE 8" X 2 1/2" X 1 11/16" WELL PUMP COLUMN JATER LEVEL ACCESS TUBE, AIRLINE ASSEMBLY, AND ALL ICES, COMPLETE IN PLACE	EA	1	\$3,200.00	\$3,200.00	\$3,584.00	\$3,584.00	\$3,200.00	\$3,200.00
	JCT, INCREASE OR DECREASE, 25 HP WELL MOTOR INCLUDING ELECTRICAL COMPONENTS, COMPLETE IN PLACE	EA	1	\$10,000.00	\$10,000.00	\$10,080.00	\$10,080.00	\$9,000.00	\$9,000.00
WATER WELL NO. 1	BASE BID ITEMS SUBTOTAL:				\$2,206,500.00		\$2,160,589.00		\$2,600,000.00
WATER WELL NO. 2	BASE BID ITEMS								
	LOT TEST HOLE TO 1,300 FEET, INCLUDING WELL LOGGING AND NG AND ANALYSIS, COMPLETE IN PLACE	EA	1	\$575,000.00	\$575,000.00	\$572,300.00	\$572,300.00	\$750,000.00	\$750,000.00
2 INSTALL A 30 COMPLETE IN	SACK CEMENT PLUG FOR UNUSED PORTION OF WELL TEST HOLE, I PLACE	EA	1	\$11,000.00	\$11,000.00	\$11,800.00	\$11,800.00	\$10,500.00	\$10,500.00
	TEST WELL INSTALLATION PILOT TEST HOLE, PUMPING AND LING AND ANALYSES, COMPLETE IN PLACE	EA	3	\$42,000.00	\$126,000.00	\$44,250.00	\$132,750.00	\$45,000.00	\$135,000.00
CONDUCTOR CEMENT SEA GRAVEL FILTI	ONSTRUCT 20"X14" WATER WELL INCLUDING FOUNDATION, PIPE, SURFACE CASING, NON-PERFORATED PRODUCTION CASING, L, PERFORATED PRODUCTION CASING (SCREEN), UNDER REAM, ER PACK AND APPURTENANCES, WELL DEVELOPMENT, PUMPING VATER SAMPLING AND ANALYSIS, (AS SHOWN ON PLANS), PLACE	LS	1	\$1,300,000.00	\$1,300,000.00	\$1,387,090.00	\$1,387,090.00	\$1,632,000.00	\$1,632,000.00
HEAD, CONCF COLUMN PIPE SHAFT), WATI	R WELL WITH 300 HP ELECTRIC MOTOR, 1,200 GPM PUMP, WELL RETE FOUNDATION, VENT, PUMP BOWLS, 700 FEET OF WELL PUMP E ASSEMBLY (10" X 3" X 1 15/16" COLUMN PIPE, OIL TUBING, LINE ER LEVEL ACCESS TUBE, AIRLINE ASSEMBLY, ALL ELECTRICAL S REQUIRED FOR WELL OPERATION, AND ALL APPURTENANCES, IPLACE	LS	1	\$450,000.00	\$450,000.00	\$477,900.00	\$477,900.00	\$550,000.00	\$550,000.00
6 ADD OR DEDU PIPE, COMPLI	JCT FOR CHANGES TO 1,060 FEET TOTAL LENGTH, 20" CONDUCTOR ETE IN PLACE	LF	10	\$270.00	\$2,700.00	\$302.40	\$3,024.00	\$270.00	\$2,700.00
	JCT FOR CHANGES TO 135 FEET TOTAL LENGTH 14" NON- PRODUCTION CASING, COMPLETE IN PLACE	LF	10	\$200.00	\$2,000.00	\$224.00	\$2,240.00	\$200.00	\$2,000.00
	JCT FOR CHANGES TO 185 FEET TOTAL LENGTH 14" PERFORATED CASING (SCREEN), COMPLETE IN PLACE	LF	10	\$460.00	\$4,600.00	\$515.20	\$5,152.00	\$460.00	\$4,600.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER SUPPLY PLANT NO. 1 - PHASE 1
TO SERVE MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
MONTGOMERY COUNTY, TEXAS
DECEMBER 12, 2023
LJA ENGINEERING, INC.
D. FORREST
DECEMBER 13, 2023

2) B-5 CONSTRUCTION CO. INC.

3) W.W. PAYTON CORPORATON

1) GEMINI CONTRACTING SERVICES, I

				1) GEWINN CONTINACTI	INO OLIVIOLO, I	2) 5-3 0011011100	TION CO. INC.	3) W.W. I ATTON CO	SIG SIGNISIN
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ONE 20 FEET SEC ASSEMBLY, WAT	FOR CHANGES TO 700 FEET LENGTH OF PUMP SETTING BY CTION OF COMPLETE 10" X 3" X 1 15/16" WELL PUMP COLUMN ER LEVEL ACCESS TUBE, AIRLINE ASSEMBLY, AND ALL S, COMPLETE IN PLACE	EA	1	\$4,200.00	\$4,200.00	\$4,704.00	\$4,704.00	\$4,200.00	\$4,200.00
	INCREASE OR DECREASE, 25 HP WELL MOTOR INCLUDING CTRICAL COMPONENTS, COMPLETE IN PLACE	EA	1	\$20,000.00	\$20,000.00	\$10,080.00	\$10,080.00	\$9,000.00	\$9,000.00
WATER WELL NO. 2 BA	SE BID ITEMS SUBTOTAL:				\$2,495,500.00		\$2,607,040.00		\$3,100,000.00
MISCELLANEOUS ITEM	s								
	STABILIZED SAND (MIX AS RECOMMENDED BY GEOTECH), (TO T THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	10	\$25.00	\$250.00	\$48.00	\$480.00	\$40.00	\$400.00
	R STRUCTURES, AS REQUIRED BY SOIL CONDITIONS (TO BE RECTED BY ENGINEER), COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$6,500.00	\$6,500.00	\$250.00	\$250.00
3 DEWATERING OF COMPLETE IN PL	LINE WORK, (TO BE USED ONLY AS DIRECTED BY ENGINEER), ACE	LF	100	\$100.00	\$10,000.00	\$85.00	\$8,500.00	\$25.00	\$2,500.00
	ED CONCRETE STABILIZED SUBGRADE, (TO BE USED ONLY AS GINEER), COMPLETE IN PLACE	SY	10	\$80.00	\$800.00	\$812.50	\$8,125.00	\$50.00	\$500.00
	CONCRETE WITH REINFORCING STEEL, (TO BE USED ONLY AS GINEER), COMPLETE IN PLACE	CY	50	\$300.00	\$15,000.00	\$650.00	\$32,500.00	\$400.00	\$20,000.00
	EEDING OF PROJECT SITE, AND ALL DISTURBED AREAS, (TO BE IRECTED BY ENGINEER), COMPLETE IN PLACE	AC	1	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00	\$3,000.00	\$3,000.00
	RFACE WATER FOR DURATION OF CONTRACT, (TO BE USED ED BY ENGINEER), COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$650.00	\$650.00	\$350.00	\$350.00
8 EXTRA DUCTILE I ENGINEER), COM	RON FITTINGS, (TO BE USED ONLY AS DIRECTED BY PLETE IN PLACE	TON	1	\$5,000.00	\$5,000.00	\$11,750.00	\$11,750.00	\$3,000.00	\$3,000.00
MISCELLANEOUS ITEM	S SUBTOTAL:				\$35,550.00		\$70,305.00		\$30,000.00
ALTERNATE BID NO. 1									
HP WELL, ONE 30 ANCILLARY ELEC	STALL TEMPORARY DIESEL GENERATOR SIZED TO RUN THE 75 HP BOOSTER PUMP, ONE 125 HP BOOSTER PUMP, AND ALL TRICAL EQUIPMENT, INCLUDING FULL 48 HOUR FUEL TANK, CK UP, AND ALL RELATED APPURTENANCES, COMPLETE IN	LS	1	\$130,000.00	\$130,000.00	\$60,000.00	\$60,000.00	\$70,000.00	\$70,000.00
	MAINTENACE OF TEMPORARY DIESEL GENERATOR, INCLUDING , COMPLETE IN PLACE	МО	6	\$30,000.00	\$180,000.00	\$46,500.00	\$279,000.00	\$80,000.00	\$480,000.00
ALTERNATE BID NO. 1	SUBTOTAL:				\$310,000.00		\$339,000.00		\$550,000.00
ALTERNATE BID NO. 2									
TANK, 290,000 GA INCLUDING PAIN	30,000 GALLON, 24'DX87'H WELDED STEEL GROUND STORAGE LLON, 46'DX24'H WELDED STEEL GROUND STORAGE TANK, I'ING, TANK PIPING, FOUNDATION, VENTS, RAILING, LADDERS, D ALL APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN	LS	1	\$713,000.00	\$713,000.00	\$859,078.00	\$859,078.00	\$1,000,000.00	\$1,000,000.00
ALTERNATE BID NO. 2	SUBTOTAL:				\$713,000.00		\$859,078.00		\$1,000,000.00

1968-42001 (9.2)

Page 5 of 6 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: **TABULATION BY:** TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 3

CONSTRUCTION OF THE WATER SUPPLY PLANT NO. 1 - PHASE 1 TO SERVE MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 MONTGOMERY COUNTY, TEXAS **DECEMBER 12, 2023** LJA ENGINEERING, INC. D. FORREST **DECEMBER 13, 2023**

\$55,000.00

\$9.865.315.00

1968-42001 (9.2) 1) GEMINI CONTRACTING SERVICES, I 2) B-5 CONSTRUCTION CO. INC. 3) W.W. PAYTON CORPORATON ITEM DESCRIPTION UNIT QTY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST ALTERNATE BID NO. 3 1 IN LIEU OF THE MCC, PROVIDE 1600A UL 891 DEAD FRONT NEMA 1 LS \$55,000.00 \$845,000.00 \$600,000.00 \$55,000.00 \$845,000.00 \$600,000.00 SWITCHBOARD WITH 1600A 100% RATED MAIN BREAKER, METERING AND COPPER BUS AND MOLDED CASE ADJUSTABLE MCPS PER ONE LINE DIAGRAM. PROVIDE FREE STANDING 1600A NEMA 1 ATS. PROVIDE FLOOR MOUNTED NEMA 1 25KVA TRANSFORMER. PROVIDE WALL MOUNTED NEMA 1 30CKT 120/240V PANELBOARD. STARTERS AND PFCCS ARE TO BE INDIVIDUALLY WALL MOUNTED IN NEMA 1 ENCLOSURES WITH ALL CONTROLS, HOAS AND RUN LIGHTS. WIRE SIZES AND ALL CONDUITS AND RACEWAY SHALL COMPLY WITH NEC REQUIREMENTS. COMPLETE IN PLACE ALTERNATE BID NO. 3 SUBTOTAL: \$55,000.00 \$845,000.00 \$600,000.00 **BIDDING SUMMARY** SUBTOTAL WATER PLANT BASE BID ITEMS \$5,222,765,00 \$6,918,910,00 \$7.170.000.00 \$2,160,589.00 SUBTOTAL WATER WELL NO. 1 BASE BID ITEMS \$2,206,500.00 \$2,600,000.00 SUBTOTAL WATER WELL NO. 2 BASE BID ITEMS \$2,495,500.00 \$2,607,040.00 \$3,100,000.00 SUBTOTAL MISCELLANEOUS ITEMS \$35,550.00 \$70,305.00 \$30,000.00 TOTAL AMOUNT BASE BID \$9,960,315.00 \$11,756,844.00 \$12,900,000.00 **ALTERNATE BID NO. 1** TOTAL AMOUNT BASE BID \$9,960,315.00 \$11,756,844.00 \$12,900,000.00 SUBTOTAL ALTERNATE BID NO. 1 \$310,000.00 \$339,000.00 \$550,000.00 **TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1** \$10,270,315.00 \$12,095,844.00 \$13,450,000.00 ALTERNATE BID NO. 2 TOTAL AMOUNT BASE BID \$9.960.315.00 \$11.756.844.00 \$12,900,000,00 DEDUCT WATER PLANT BASE BID ITEMS ITEM NO.11 -\$1,110,000.00 -\$1,147,996.00 -\$1,195,000.00 DEDUCT WATER PLANT BASE BID ITEMS ITEM NO.12 -\$7,400.00 -\$59,375.00 -\$5,000.00 SUBTOTAL ALTERNATE BID NO. 2 \$713,000.00 \$859,078.00 \$1,000,000.00 **TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 2** \$11,408,551.00 \$12,700,000.00 \$9,555,915.00 ALTERNATE BID NO. 3 TOTAL AMOUNT BASE BID \$9.960.315.00 \$12,900,000,00 \$11,756,844,00 DEDUCT WATER PLANT BASE BID ITEMS ITEM NO.25 -\$887,500.00 -\$600,000.00 -\$150,000.00 SUBTOTAL ALTERNATE BID NO. 3

> FRN F-1386 Page 6 of 6 LJA Engineering, Inc.

\$845,000.00

\$11,714,344.00

\$600,000.00

\$12.900.000.00